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—2ywyn N9 7oNDR B3 (1RINY)
And the 7710 states; ‘You shall not perform any work’

OVERVIEW

X2°pPY °27 derives the y2r M0°X on 9"y from a combination of two 2°2109; the P10d of
31 IN°2WN WX 2132 X and the 7109 of "3 AWy X9 79891 95, The 2vn of N awn
(according to ¥") is by burning the ynn. Burning is an 79X%% 2R, which is
forbidden on ©"y (unless it is W51 22X TNXY); if PWXI7 012 would be taken literally
that we are to burn the y»n on the first day of v"v, that would contradict the W% of
WyN RS 79897 3. Therefore we must assume that the 21°1 of y°awn is from 27V
u"y. The issue at hand is that at a certain point in the burning process, one may
derive benefit from the burnt y»nn. There should therefore be no problem in
burning the y721 on v"v, since the burnt Y11 can be used (at a certain [later] point)
to cook food, which is permitted on v"v. Why therefore does ¥"9 assume that the
211 of 1awn contradicts the MOX of Wwyn XY 798Yn 95; when it is possible to
observe them both on v"°. We can burn the y»1 on v"y with the intent to use the
[coals] fire (later) for cooking.

*
mooIn asks:
— A INNIN DIYN) DY GIYWIWIT 2) Y 9N
Even though when the y»nr will be burnt and turned into coals, it is permissible

to derive benefit from these coals, so why should it be forbidden to burn the yn?! The ynn
may be burnt on v"v, since eventually it will become coals, and the coals will be used to cook3,
which is permitted on v".

mooIn will prove that it is permitted to derive benefit from coals of y»ar. There is no ARIT MOX
once the 71 becomes coals:
-9 NN *991 927 ©YYNY 23 Y 1YW *NYAY 933 (3,1 sy NYY Y5 P92 YINTD

As the Xn>>12 states in 7y %2 P2 concerning 729, that if bread was cooked
(baked) on top of coals (made from burnt 797Y) everyone agrees that the bread

" The word "mX' is amended to read '2°n2Y.
% The o"wi1 nMon amends this to DA2 AWy X 7K1 9.
? The ashes can also be used for o771 "0° or other uses concerning w1 Y.
* 797 (the fruits of the first three years of a newly planted tree) is forbidden 717°o%2 and Ax372.
3 If the bread was baked from 797 *o*%p before it turned into coals there is a npY>nn between 271 who maintains that
the bread is 7108 (for N2 0°¥y Maw w°) and the 0°»51 who maintain that it is 70 (for N2 DY 7AW PR).
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is permitted to be eaten.® It is evident that even by 717 *M0°X, once the MO°X became coals, it
1S 1R NN -
— NN PN NY

And the same ruling applies to Y27, The coals of burnt 70 are X372 IN»; one may use

these coals to cook with. The question is; why cannot we burn Y11 on ©"vy, since eventually
(when it becomes coals) it may be used for cooking?!

mMooIN anticipates a possible solution and rejects it:
= £999) MIN 12 PIUY NY (x,x3 91 NYY DI P992 1INT NN

And that which the mw» teaches in 7yw 9> P9 that once the time of ynm 20K
begins one should not heat up a 25392 9310 with the ynn which he is burning. It appears
from that 71wn that one may not derive any benefit from burnt y»n. This would (seemingly)
answer our question. The 7R3 70X of ynr extends even to coals. That is why one may not burn
ynn on v'", because there is no possibility of deriving any benefit of w51 751X from this ynn.

mooIn rejects this solution:
— 192919 99N

This prohibition of £>7°31 710 12 P°0° XY is only 33972, However, 707 12 it is Imn to
derive benefit from 2213 of nX17 MoK, The question remains, why we cannot burn the y»n on
u"y, for since it can be used for wo1 2R, there is no MO X of WYN XY 7oK1 7.

NN answers that YnN°2wn cannot be on v":
= 1939 D92 99990 IN*AWNT RIPYT NI NIADT PHYY 12929 99N

The 5"'9 answers; it is logical to assume that the 109 of wn°awn is discussing all

situations -
= 5N)Y T8 IN 9N

even when he has no need for these coals (of the burnt y»n). In this case he may
certainly not burn them on v"y since he will not be using them for any purpose of w51 21R 7.
Therefore we must conclude that the 21°1 of 1n°2wn begins before 1"y .

mooIn offers an alternate solution:
— 19191 MMNY D192 1PN N9YAN NINHNT 119 ) ON

Or you may also answer that since at the very beginning of the burning (before

the v becomes coals) one may not derive benefit from the y»n since it is still ynn
1v2, therefore -

% If the coals of 797¥ would be 7X372 MOK, then the bread would also be 10K, since by eating it we are deriving a
benefit from the coals of 797y (which baked this bread).
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— MON 79 9NN 199N ANIN 1Y XY 22 Yy 9N
Even though you can derive benefit from it later (when it turns into coals),
nevertheless it is forbidden to initially burn it on v"v.’

mooIn offers an example that it is prohibited to do a 7oK on v"y, if initially it is not 22 N7
wo1, even if eventually it will be wd1 791X 71%Y:
— (3,557 97 Awa) PANT INAY 21V 02 192997 PRY SMAT 02913 115
It is like pledges and donations which are not sacrificed on v''y, according to
the one who maintains so (that v"1°2 1299 PR M2 2°77)) -
— 99DaY VTN HINN )N YWIY 29 bY 9N

Even though at the end there will be food for the layman’, nevertheless since
initially we offer the 1277 to '77, not for o7& 2o&n, therefore it is prohibited to offer these N1137p on
v". The same is here by ynr, since initially when we begin to burn it, the y»r is X172 7108 and
cannot be used for wd1 92, therefore it is forbidden to burn it on 1"y even though eventually
(when it becomes coals) it will be permitted to be used for wo1 721K.

mooIn anticipates the obvious question, there is an opinion that M2 2°771 are v"v2 PP,
seemingly because eventually it will be ©1°771 N9°2R? "X, this undermines MooIN assumption that
even if it eventually can be used for w1 921X it is still MOX since now it is not being used for 22X
wo1. MdO0IN responds:

%0 n9] (ManYn) s S9v N
And the one who permits nN12711 2°771 to be offered on v'"y, he permits it to be
sacrificed on v"v for he derives it from 11'.'!5; that (even) M1a7p which are 7%, one is
permitted to bring on v"v. However by ynr no>w where there is no "2 to teach us that one may
burn ynn on v"y, everyone will agree that since initially one cannot use this w51 921X 77X yan, it

is forbidden to burn it on v"y.

SUMMARY
One may not burn y»n on v"y if he does not intend to use the coals later for 72
wol. Alternately one may not burn y%1 on 0" (even though that he intends later to

7 See ‘Thinking it over’.
¥ 0171 means vows, where a person vows to bring a 129p. This vow is effective and binding until a 727p is actually
offered on the m21m. 271 are donations where one pledges a specific animal (bird, or flour) for a 727p. That animal
becomes w7pi. If the animal is lost, etc., the owner is not obligated to replace it with another 127p.
® The o°375 and the owners will be permitted to eat from this 127p (if it is a 2%W).
19 The X"y in 0"wi 193 amends this to read 79» (and that is also the X073 in X"2w77 Moo and w"X77 MoOMN).
" The 108 reads (7,2 [X2] MAw) 572 37 MK amam.
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use the coals for cooking), for since initially he cannot use it for wa1 90K, it is
prohibited.

THINKING IT OVER

mooin second answer is that since initially you cannot derive benefit from it,
therefore it is Mox.'> Why is this different that a regular fire on v"1°? There too you
cannot derive any benefit from it initially. The fire must be made large enough and
then it does not heat right away, etc. Obviously the answer is this is the process of
cooking. The same should apply to the coals; this is the process of making coals
for cooking. What is the difference between the two?!

12'See footnote # 7.
4

TosfosInEnglish.com



